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Aufgabe 1

an :=
xn+1

xn
, bn := n

√
xn

lim an = lim
k→∞

sup{an | n ≥ k} = lim
k→∞

sup

{(
1
2

)(n+2)/2(
1
3

)n/2
,

(
1
3

)(n+1)/2(
1
2

)(n+1)/2
| n ≥ k

}

= lim
k→∞

sup

{
1
2
·
(

3
2

)n/2

,

√
2
3
·
(

2
3

)n/2

| n ≥ k

}
= ∞

Analog : lim an = lim
k→∞

inf

{
1
2
·
(

3
2

)n/2

,

√
2
3
·
(

2
3

)n/2

| n ≥ k

}
= lim

k→∞
0 = 0

lim bn = lim
k→∞

sup

 n

√(
1
2

)(n+1)/2

,
n

√(
1
3

)n/2

| n ≥ k

 = lim
k→∞

sup
{

1√
2
· 1

2n
√

2
,

1√
3
| n ≥ k

}
=

1√
2

Analog : lim bn = lim
k→∞

inf
{

1√
2
· 1

2n
√

2
,

1√
3
| n ≥ k

}
=

1√
3
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Aufgabe 2

an :=
n∑

i=2

|xi − xi−1| → Monoton wachsend ∧ beschränkt

⇒ Konvergent ⇒ Cauchyfolge ⇒ ∀ ε > 0 : ∃ n0 ∈ N : ∀ n, m > n0 : |am − an| < ε

⇒ |xm − xn| = |xn+1 − xn + ... + xm − xm−1| ≤ ||xn+1 − xn|+ ... + |xm − xm−1|| = |am − an| ≤ ε

⇒ xn Cauchyfolge ⇒ xn konvergent

Beispiel :

xn :=


− 1

n : n gerade

1
n+1 : n ungerade

 → Konvergent (→ 0)

Doch :
n∑

i=2

|xi − xi−1| =
∣∣∣∣−1

2
− 1

2

∣∣∣∣+ ∣∣∣∣14 +
1
2

∣∣∣∣+ ... +
∣∣∣∣− 1

n
− 1

n

∣∣∣∣ = 1 +
3
4

+
1
2

+ ... +
2
n

= 1 +
1
2

+
1
3

+
1
4

+ ... +
(

3
4

+ ...

)
→∞ da

1
n

divergent

Aufgabe 3

Es gilt : e = lim
(

1 +
1
n

)n

= lim
(

1 +
1
n

)n+1

∧
(

1 +
1
n

)n

< e <

(
1 +

1
n

)n+1

⇒ 1
n + 1

< ln
(

1 +
1
n

)
<

1
n

⇒ xn = 1 +
1
2

+ ... +
1
n
− ln(n) > ln

(
1 +

1
1

)
+ ln

(
1 +

1
2

)
+ ... + ln

(
1 +

1
n

)
− ln(n)

= ln
(

2 · 3 · 4 · ... · (n + 1)
1 · 2 · ... · n

)
− ln(n) = ln(n + 1)− ln(n) > ln(n)− ln(n) = 0

xn+1 − xn =
1

n + 1
+ ln(n)− ln(n + 1) =

1
n + 1

+ ln
(

n

n + 1

)
< ln

(
1 +

1
n

)
+ ln

(
n

n + 1

)
= 0

⇒ xn monoton fallend ∧ und beschränkt

⇒ xn konvergent
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Aufgabe 4

a)

an :=
2n− 1

2n
, lim n

√
an = lim

1
2
· n
√

2n− 1 ≤ lim
1
2
· n
√

2n = lim
1
2
· n
√

2 · n
√

n =
1
2
· lim n + 1

n
=

1
2

< 1

⇒
n∑

i=1

an konvergent, S :=
∞∑

i=1

an

S − S

2
= lim

k→∞

(
k∑

n=1

2n− 1
2n

−
k∑

n=1

2n− 1
2n · 2

)
=

1
2

+ lim
k→∞

(
k∑

n=2

2n− 1
2n

−
k−1∑
n=1

2n− 1
2n · 2

− 2k − 1
2k · 2

)

=
1
2

+ lim
k→∞

(
k−1∑
n=1

[
2(n + 1)− 1

2n · 2
− 2n− 1

2n · 2

])
+ lim

k→∞

2k − 1
2k · 2

=
1
2

+ lim
k→∞

k−1∑
n=1

1
2n

=
1
2

+ 1 =
3
2
⇒ S = 3

b)

∞∑
n=1

1
n(n + 1)

= lim
k→∞

(
k∑

n=1

1
n(n + 1)

−
k∑

n=1

1
n

+
k∑

n=1

1
n

)
= lim

k→∞

(
−

k∑
n=1

1
n + 1

+
k∑

n=1

1
n

)

= lim
k→∞

(
−

k+1∑
n=2

1
n

+
k∑

n=1

1
n

)
= lim

k→∞

(
1− 1

k + 1
−

k∑
n=1

1
n

+
k∑

n=1

1
n

)
= lim

k→∞

(
1− 1

k + 1

)
= 1

c)

Für q ≥ 1 →
∞∑

n=1

qn = ∞

Sonst :
∞∑

n=1

qn = lim
k→∞

(
(q − 1)
(q − 1)

·
k∑

n=1

qn

)
=

1
q − 1

· lim
k→∞

(
k∑

n=1

[
qn+1 − qn

])
=

1
q − 1

· lim
k→∞

(
qk+1 − q

)
=

q

1− q
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